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1. Name the intersection of JKX and - 5. What type of slope does the line
plane R .
have?
_ 2K,

E ]

8. What is the slope of the line that
passes through (4, 0) and (8, —1)7?

: vl= ,-\i?'vj‘ ;']“O
‘ Point D X =% 34
2. Use the Pythagorean Theorem to
find the length of the hypotenuse.
M X
10
. 7. Classify the triangle by its angles
24 and sides.
a2 b= ? £z 2k ﬁ _ [
j00 + 576 =C*
GTe = ¢
3. Classify ~QMP as acute, right, or
obtuse. 8. Which two triangles are congruent

by the SAS theorem? Write the
congruence statement.

ABAC = ASRQ
A ABC = ARSH
ACAB ZMRS



f NAME HOUR
GEOMETRY MIDTERM REVIEW 2019-2020

| 9 Name the transformatlon _15.S is the midpoint of RT, and RS = 14.
| *Find RT. F , S . T
i N ; e
) \
" f
v i

Tr‘analod‘loh I+t @

16. LM = MP, and LM = 9. Find MP.

A dilation is a transformation that changes

the size of a figure but not its shape. The -
} preimage and the image are always similar.

10. Tell whether the transformation
appears to be a dilation. Explain.

17. Fis between Eand G, EF=x -7, and
EG=4x+ 3. Find FG.
X~ ] °

E F G
i : j
e 3.
A. Yes; the figures are similar, and . ‘ o
the image is not turned or flipped. EFcrFa =E&G. ¥ = AX410 \
No; the figures are not similar. AT+ F& = l—lxy{%
-/x -X T
Use the figure for Exercises 11-14. 18. ins*m the interior of ZWXY. mAWXZ =

40°, and mZWXY = 110°. Find

mZLZXY.
W w 1o =40 :

X e y

19. Zis in the interior of ZWXY. f msWXZ

11. Name a Iine\.

%—C-} L _ =110°, and m£ZXY = 20°, what is
Ce Une o mZWXY?
12.Name a segment on line n. . :
A - J1/30°
13. Namf; ray with endpoint A. //0 T Q,b 7 /30
AD

14.Name the intersection of BC and AB.

Ponk P
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20. Ciassify ZQMN as acute, right, or 25. Find the area of the triangle.

obtuse. CA - b‘}k = ﬁ
A-bk ke 2

v
At ) [Reafi
Z

| 26. Find the circumference of the circle.
Express your answer in terms of «.

C =21 r

21. ZA and £B are complementary. m£A = o? ¢ 77 '
29°. Find m£B. '

o
‘?0 ‘”2 6] = /é/ ! 27. Fi e area of a square with s=7.6

centimeters.

-
=

L

22. /A and ZB are supplementary. mZA =
137°. Find m«£B.

180-137°= 43"

28.Find the area of a circle with a diameter
of 6 feet. Use 3.14 for =.

. =1r
23. /A and ZB are complementary. mZA » A = ﬂdl" i’ é’—j}
| <) p-T-3* 4

= (bx + 2)°. Find m£B. = 5 7
NN A = 91 3T
QO“‘(SXOLQ/) f _:Jgagéjf‘}a
670 — X _"Z 29. Find the coordinates of the midpoint of
$¢-5 X GH with endpoints G(--5, 4) and
Use the figures for Exercises 24—26. H(-5,8).
?(;:m - o —@— £
i Q \
11 (=54) (-5,8)
4in. . 8"
12in. 52—
24. Find the perimeter of the square. M O oL
P-4 /
=493

;f: ’:.:;
P=y(7) -(-5,6)

/"‘*\
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30. M is the midpoint of RS, and M has
' coordinates (2, 6). R has coordinates
(-10, 6). Find the coordinates of S.

-5

M
(-Io,) (2, 6)

31. Use the Distance Formula to find VW,

d= \/(Xz - + (Vo - W)

gL ¥

V(i3]
i
N X

R

o

W61

aL=JZ@~—I)."'+(~J-5)?
d=f 5%+ ()=’

d=fas5+16"

33. Identify the transformation as a
reflection, a rotaticn, or a translation.

34. |dentify the transformation.

&

.
L

2

"3

. Reblection.

35. The coordinates of the endpoints of a
segment are A(-2, 3) and B(2, 1). Find
the coordinates for the endpoints of the
image of AB after the translation x, ¥

—(x+3,vy-2). —
s )

B(2,)>(a+3, J-2)=((5,-1)B

Use the figure below for exercises 36-
41

36. What is the name given to the angle pair
Z3 and /57

A l+ernate Tnterior
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37. What is the name given to the angle pair

Z1 and £57
OFrespo nd{?

38. What is the name given to thé angle pair
Z8 and £57

Linear Pajr

39. What is the name given to the angie pair
Z7 and £57

Verticad .

40. What is the name given to the angle pair
1 and L1?

A leirnode. Exteriar

41. What is the name given to the angle pair
Z3 and £67

Same Side Trnterior.

42. Given r|| 5. What is the measure of £17

- 1 35/
; 1357
e

43. Find the measure of ~FDE.

\
e
oW ~¥

» -d D\G' ::?

- (3x + 20>
F

¥

~ 5)( B
[=50°)
44. Find the slope of JK through J(1, 1)
and K(2, 3).

meped . 3. 2791

X;z "X/ -'}

Yy = B3kt20 m<FDE =320
4 /A =3(20)+20
=(L0+20

45. Wirite True or False. Theigraph of x=5
is a vertical line. a Y

True.

46. Write the equation of the line through
(3, 4) and (2, 1) in slope-intercept form.

ml—g 225 \/ -mx+b -

b

use (1) 562*
.4

=

13:3x<5§
47. Write the equation of the line through

(4, 6) with slope % in slope-intercept

form. = YYUX _\,b . | 5 »-_—,{)

| w3
c-3ee |

L= FH+b
48. Determine whether the lines are

parallel, intersect, or comcnde

=2 same slo
«/m%kcet

y=-3x-8
:Ppﬁl’

/ %.m!/a/ !

49. Complete the sentence. If the product
of the slopes of two lines equals 1

then the lines are _Pe_fzehd j
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50. Determine whether the line through (0, 55. Complete the sentence. All of the angles _
4) and (2, 0) and the line through (-2, 3) in an equilateral triangle measure :
and (-4, 2) are parallel, perpendicular, e
or neither. ‘ 56. What is the measure of £1?

(0,4 (2,0) (-2,3)(-4,2) |

- _Q_:-LI .:-L//-:. m= "2-5 ___I__E
"aora 2 {46 Sz 12

fo-+4
ZOEEOS' e rfc:PfDCaE

M—D “'02 -L - }Pérpgﬂd[ Mﬂ/f The measure of the smallest angle of a

right triangle is 27°. What is the
measure of the second to smallest
angle?

3x + 4 are parallel. 77 =
90 - 7

52. Determine whether the lines 3x + 2y =6
and 4y = —6x —12 are parallel, intersect,

51. Write True or False. y=-3x+4 and y =

58. Find the measure of /RST.

or coincide. (Bx — 4)7 R
?@2 =( dy~bx-12 ()

o_z_i" “3)(1"'é “7 ‘:,3 K o 2 : e

= 22 YExd §x+1 = 5x -4 + 5%

Use the figure for Exercises 53 and =

a0

59. Given: AGHJ = ANOP. What is the
value of x?

50° 50°

53. Classify the triangle by its angle
measures.

Acute

54. Classify the triangle by its side lengths.

Ts0scekes -
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60. Given: ATUV = ATWV: Flnd m2ZU and
Uv.

2')(2.9;? ‘2

X =l

. uv = 67{4—5
m<U 4‘?x é,é :(o(.Z)*’E

61. If E;E, what aj! itional

congruence statement is needed to
prove AABC = ADEF by SSS8?

# E
A 7
4x -+ 3
o

8 5

LA_E;ET;

Use the figure for Exercises 62 and

63. 5 Vertical <sz

VALY c
Aﬁ £ z:;;
B

62. Write True or False. You can use AAS
to prove AABE = ACDE.

63. What additional congruence statement
is needed to prove AABE = ACDE by
HL

64. What postulate or theorem proves
NAED = ACEB?

A B
E,

o C

65. Find the value of x.

66.Find the value of x.

67.Solve the proportion. %

Ly=18
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68. Given that 15x = 5y, find the ratio of x td
y in simplest form.

[5x= Oy 5
A
L O
15
5. L.;L]
15
69. Given X = 14y, find the ratio of y to
X in simplest form. l

X

2. L=
ANE
70-The local day care facility has a ratio of 1

adult for every 6 children. How many
adults are working if there are 42

children?

| adadt L. x

6 ohilden G 42
(=42

71. Determine whether the triangies are
similar. If so, write the similarity ratio
and a similarity statement.

;;’{}B%\
Al
%%-3— By SAS

27 - Af NA'FED
_ag E AN LB
STk

72. Identify the similarity postulate or
theorem that can be used to prove
AABE ~ ACDE.

B VerHeal 45 =

VA2
\%/

AA S)m‘ulahjrj |2

c

73.A rectangular field has a length of 105
feet and a width of 60 feet. On a map of
the field, the width was drawn as 4
inches. What measurement should
represent the length?

GOH{; | )
!
1094 X
width 0 _ 4
iéth\ (05 x
LOx= 120
x= 7in
74. Find DF.

450

8
lavae 360 _ (O
Smal 30 X
2060%= 15000
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75. Find RQ.
£.6

RAG
o)
15
b=

Fe2s)

10
X
150

('

\i

76. Mentone, Indiana, claims to have the
world’s largest egg sculpture. A 6-foot-
tall person standing next to the egg
sculpture casts a shadow that is 2 feet
long. If the egg casts a shadow that is 4
feet long, how tall is the sculpture?

- ?____ O.L_*

77. A drawing of a garden uses a scale of 1
in : 3 ft. Find the length of the garden if
the length on the drawing is 13 inches.

_J,\YL I - I?) mclmb
5+ 5 X feef

' 78. Two points on k are (-4, 3) and (2 ~1).

Write a ratio expressing the slope of k.

T A
EFTET A
79. Find SP.
> T
14 20
Sall A T 1
Sali 2L

\arges i X
Tx= ¥

(= 2]

80. Compare FD and GJ.
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Use the figures for Exercises 81 and
82.

81. Order the sides of AKLM from smallest
to largest.

KM KL, LM

82. Find the range of values for x.

37°>32°
KM > HT P 0
> Ax-/ x>
tza_ 1”/22{ (_-5 t‘g
20 > Ax Ix>12
10 > x X >0

(:éxfio

83. Use Pythagorean Theorem to find the
value of x.

b MJ
30+ 6H=C

Er"j

84. Write True or False. A right triangle has
sides that measure 5, 12, and 13. The side
lengths form a Pythagorean ftriple.

[Trae

85. The measures of the side lengths of a
triangle are 9, 12, and 15. Classify the
triangle as acute, right, or obtuse.

9% 412% 7 )57
rIH7 7 225

029259‘1-»25

86. Classify the triangle with side lengths of
16, 7, and 12.

7200247 16"
49 4 44 7 256
/075@2 56

v




